
Swan neck LG 250/1
S54100-25/1

PVC body 
S52193-1

Hex nut M10x1
S52145-1

Gas Nozzle
see table below

Tip adapter
KP10455-8

Nut M10x1
S52197-2

ESG cpl.
S52199-1

Adaptor nut
S52197-1

Screw M4 x 6
S52142-1

Cable support cpl.
S52198-1

Spring support
S52196-1

LGP    250   G

Lincoln Electric Europe ELECTRIC
LINCOLN R

www.lincolnelectric.eu

The welding experts

Part No.
MiG gun LGP  250  G - 3 meter K10413-25PHD-3M
MiG gun LGP  250  G - 4 meter K10413-25PHD-4M
MiG gun LGP 250  G - 5 meter K10413-25PHD-5M

Coax cable assembly 
25 mm2

3 m: S52176-3M
4 m: S52176-4M
5 m: S52176-5M

Contact tip
see table below

Handle
S52185-3

Trigger
S52186-1

Liner 
see table below

Nozzle spring
KP10401-1

Ø Part No.

15 mm KP10461-  2 
HD: KP10461-11

20 mm KP10460-2

11 mm KP10461-7

11 mm KP10466-1

18 mm KP10463-2

M6 x 28 mm
0.8 mm 1.0 mm 1.2 mm

ECu KP10441-08 KP10441-10 KP10441-12

CuCrZr KP10441-08C KP10441-10C KP10441-12C

Al (ECu) KP10441-08A KP10441-10A KP10441-12A

Ø 3 m 4 m 5 m

Steel liner blue
Steel

0.8 - 1.0 KP10413-3M KP10413-4M KP10413-5M

red 1.0 - 1.2 KP10414-3M KP10414-4M KP10414-5M
PTFE liner blue Alu, Stainless, 

CuSi
1.0 - 1.2 KP10422-3M KP10422-4M KP10422-5M

red 1.0 - 1.2 KP10418-3M KP10418-4M KP10418-5M

Aluminum kit (PTFE /bronze)
red Alu, Stainless, 

CuSi 1.0 - 1.2 KP10419-3M KP10419-4M KP10419-5M

 x 

12
-2

01
3 


